2 Stick
Pfosten

4 Stick
Mutter M 8
DIN 6923

1 Stock
Gitter 1276x1350

s

v

\I

AN
A

A\
AN
A
W\
A
N\
Y

A\
Y
Y
Y

A
.
ALY

N
AN

Y
LY
Y
A}
A

AN
AN

N\

W

A

AN

1 StOck

\ Pflanzkorb 1250x250x250

4 StOck
Schraube M8x20
- DIN 6921

\

1 Stdck

4 Stuck

|
: lg 4 Stick
/ | Schraube M8x20

|

LENSE0 -

I stick G.K.R. - GERMANY
| Pflanzirog 1400x400x430 HYDRO PROFI LINE®

KONTEZA s.r.o.

. Wasserstand D30

StellfuB M10x30

4 stock
Rolle D35/M10

|

Montageanleitung

Pflanztrog / Korb
fiir Rankpflanzen



